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SECTION -1
©|ue - 1
CHILD DEVELOPMENT AND PEDAGOGY

et forerTa wa foramymea

There are 30 questions in all in this section.
All questions are compulsory. O
W ETE H T 30TFE | ()
T e sifrerd ¥ ) & .
‘Toy age’ refers to

(A) Early childhood ( te £hildhood
(C) Babyhood ) of these.
‘faeiHT Y 3Tg’ HeT I ¥

(A) T ATeER w I eIEEe H
() IvrETEEen H T A w
Which of the following is not th of early childhood ?
(A)  Pre-gang age % Imitative age
(C) Questioning age Play age.

= 3 @ - @
A) TA/FEEH
©

‘—!%"T%?

(B) Mass and number
(D) Mass, number and area.
ERid | etk fifas agell & e eraves o A fted= waen e € 2

(B) TUHM AR dEm

(D) ToWM, Tem & &7 |
The meaning of development is

(A) progressive series of changes

(B) progressive series of changes as a result of motivation

(C) progressive series of changes as a result of motivation and experience
(D) series of changes as a result of maturation and experience.
faprg 1 aref ¥

&) UfiEdHr *t TR S

B) RN & HerEEY B A IREdl Bt ST el

() AR wE STME % FEEY T AT TREdAT i A e

(D) Ufygear Ud 3V % Herawd g A Uil it Ee |
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4 ry
Which of the following statements is not correct about development ?
(A) Each phase of the development has hazards
B) Development is not aided by stimulation
(C) Development is affected by cultural changes

(D) Each phase of the development has characteristic behaviour.
e e dfmdds-T e g & ?

() fom w5 TiE sEen ¥ o T ¥ O
(B) faomE SFEN / Sg@I A 9 A& BT ()
© Towm dienfas ufad @ gufae €1 €

(D) fawmm & yd= sEed =t g fadmad 2 € &

Which of the following development tasks is n opriate to the late childhood ?

(A) Learning physical skills necessary fo ames
(B) Achieving a masculine or femini @

(C)  Achieving personal independegfice

(D) Learning to get along wi .

e d 9 wH-m s e & ST 7 ?
() T G % o sffvgegiiie suem die

B) Teuifad a1 fodfem gge frsil =1 wm T

(©) Safws sreafys

(D)

Training in ce of normal maturation is generally

(A) neficial with respect to performance of the common skills

B) ul from an overall point of view
eneficial from a long range point of view

(D)  beneficial or harmful depending on the method used in training.

| 9iaee | Uge iR S W
() a5 e % ded § aga e Qe
B) ot Taen R TR g §
(© <refetfas gfy A vl € ®

(D) <YER g =1 B ERe, T8 T W i e € T ufvew § feg wer =t fafa = v
frar T g
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8.  Five year old Raju is watching a storm from his window. A huge bolt of lightning is
followed by a tremendous thunderclap and Raju jumps at the noise. This happens
several more times. There is a brief lull and another lightning bolt. Raju jumps in
response to bolt, Jumping of Raju is an example of learning theory of

(a) Classical conditioning (B) Operant conditioning
(C)  Trial and Error ‘ D) None of these,
qre 9 T TS AU fagt TR TEA S @A & | faelt g S T AT
ST ¥ | T UIR | o 3B ¢ | IR-97 I = g ¢ 4 fe % Tyamw ol
FITHA § | TS faset F1 T GAL SO ¢ | TS H IDAT fagra =1 s3ETw
g7
() T STgEE (B)
C) WA TE (D)
9.  Which of the following is an example of posi
{d)  Redicule by friends oss of time with friends
(C) Ceaée nagging All of these.
HehITa 598 &1 fA o 9 -4 ?
(&) o &% 50 S B) Tl % 9 v 9EE S @
() e Free sE D) T d et
10. Which of the followin nis is not appropriate to motivation as a process ?
(A) It causes a ove towards a goal
(B) It satisfies erson's biological needs

(C} It helps irfachieving a psychological ambition
Dy It
= H

from an unpleasant situation.

1 e Afon W ufEe F v A sugw i ¥ 2
H T HI A IR

=fH Ft TR vl #t Uy wwa €

(C) ~ I% ARSI STERieN S W FHA H HETaal B ©

D) ¢ =fe H i fliageat |

11. The temporary change in behaviour due to continuous exposure to stimuli is called

A) Habituation (B) Learning

(C) Temporary learning (D) Motivation,

et 3% & Fr fed 99 | =R ¥ €1 aren s afteds FEan ©
(A)  FYIEE B)  Hfay

Q)  oTRam sfenmm (D) Ao |
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12. The teachers should not use which of the following ways to change the attitudes of
students ?

(A}  Coercive persuasion
{B) Repetition of idea or assertion
{C) Endorsement by an admired person

(D) Association of the message with a good feeling.

faenfer skt sfygfaal o afted= & foau = 5 9 foew fafa @ w@m s ' ey ?
() < ¥ fdt wm o foer % fau st w e
B fFd faEr ) ST syen EarEs SeER O
(© Frelt weieta =1 & g wae wd wiief C)
(D) W % WY Wged TE wE | &. *
13. Which of the following statements regarding achi¢vementWnotive is true ?

(A}  Achievement motive is necessary for s

considered a social motive
(D) All of these.

Iqefedr AYTR F Ty # fae A TEL ¥ ?

@A) Ut S

(B) it =t eyl ¥ o STefs sl i fasra Wk FET o WA §

() 3z =ateal R F €, 9 STATSY AU il Arferes S1fYUTE R o
ekl §

14. s children start taking interest in

(B) Human body

(0] (D) School.
afgEen H wereh w9 o W e ©
B) HFF IR H
(C) o =t H D) faemem o

15. Which theory believes that human mind is like an iceberg mostly hidden and has three
levels of consciousness ?
(&)  Trait theory (B) Type theory
(C) Psychoanalytical theory (D) Behaviourist theory.
% fagra =aw wwa & fF A9e afeass w9 &1 92t 9gm & gum ¥ W fF erfusim: foft
@ ¥ ud U A % W E 2
@A) T fas B) WK fag=
© wAfaweryorerE g (D) =EERER fag |
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16. Some people say that whenever anger draws upon children, they go to play. Until they
feel better which of the defence mechanisms is represented by this behaviour ?
(A)  Projection (B) Displacement
(C) Reaction formation D) Sublimation.
T 0N I He € T 99 TEmRT FI T A € A A Yo F fau v 9 € | 9 9% 7 T
| =81 Fegd T8 Hd, ST Faer 8§ = # | %9 wfaen o= wfoefia @

@A) wEI0 B) Tz
(©) ffsran feio (D)  SERTHI !
17. Adjustment means accommodating oneself to various circu n order to satisfy
(A) others (B) motives
(C}) goals D n 2
HAESA § aread @ w1 i ol § stsger o T wF
@ TR
(C) Sewdl =l A & |

18. Which of the following behaviours is n tation of emotional disturbance ?

(A) Delinquency Bullying nature
(C) Truancy (D) Autism.
f o | F-w =R e = T wF@ R ?
(A) S I (B) HHSIRI T TOA Sl
(C) g (D) W |

19. A provision for ed e children with disabilities can be done through
A Inclusive edu on (B) Mainstreaming
(@] N (D) None of these.
ERET % faQ yagm fRar s w6 ©
A 4y B) T 9N H TR
©) D) FTHIAFE T |

20. e following is not a characteristic of mental retardation ?

1.Q. between 25 to 70

(B) Learning in a slow pace and unable to do the activities of daily routine
(C) Poor adaptation with the environment

(D)  Poor interpersonal relations.

e 9 | -4 wrfas w=ar oo 98 2 2

@) s T w258 70% 7e O

(B) i T ® e v S Stam i feestl ® 9 9 9

(C) IMETERY % MY FAJher H Hfoe

(D) =ToArss Tl %1 AR B |
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21.

22.

23.

: |
Which of the following is more important for keeping the good mental health of
students ?

(A Provision for curricular activities
(B) Freedom of expression
(C}) Variety of interests

(D) Teacher's role and school environment.

foenfefal % o= umfas @ &1 998 @ & fau = F 9 $F-m eI § ?
() W fFstl =1 yEEm

(B) Af9AE hi T ()

(© o F fm & ¢

(D) 3tearges i yfirent we fommersi rdmee | @

‘Child belonging to weaker section’ means

(A) A child belonging to such parent: S ual income is low

(B) A child belonging to such p o come under the disadvantaged group

(C) A child belonging to suc o come under the category of below poverty

su arents whose annual income is lower than the
d by the appropriate government.

minimum limit spe
"SR AT & ST ¢
@) ey 3 4 fomen) arfte e =0 @
) U Srerer & < siferm o # omd ¥

© % e QS RiE W § A w o e §

(D) [ o STeTeRl 9 S TR g Tuifa =ram e ot At A W e
T

ght to Education Act, 2009 specifies that if the number of children admitted for
first class to fifth class is above two hundred then the pupil-teacher ratio required is

(A) thirty (B) forty
(C) forty-five (D) fifty.

fran w1 et erfufran, 2009 o iy for wan @ o wven-1 @ =en-5 9% afs oo fd ™
feenfefzi =it wen <1 | ¥ st &, o faenefi-steare sawas TUE g

@A) o= (B) =TeiE|
(C) Udred (D) 999 |

(D) A child belonging Q-

ATEEREr 101
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24. Which of the following statements is incorrect about action research ?

25.

26.

27.

(A) It is conducted by teachers and educational professionals

(B} It is conducted to solve a specific problem

(C) Itis conducted to provide information for decision making at a broader level
(D) It is conducted to focus on the solutions of day to day problems ocal level.
forarees S o ¥ wery J fr9 & 9 - e we e & 2

(A) I AT U e waEE @ 92 At & g faean s €

B e fd faftre v & wom % fog forar s R O

(€ = "R W g o & ferg g dehem o S T d

(D) THE &R R I #1 aensd F gauE F ol I o ST € )
Which of the following statements is not true a ching ?

(A) Teaching is modifiable ing is formal and informal
(C} Teaching is a science as well as art aching is instruction.

71 4 | F1-W Foa e & IR 4 9

(&) fosor ¥ gunr faar s woha R B) e siv=ifts v sy #
€} Tougw fowm & Wu-wy (D) foego FEvH T |

The National Curriculum mework, 2005 under the heading 'quality dimension' gives
more importance to

(A) Physical reso
{(B) Qualified and Motivated teachers _
(C) Experiences designed for the child in terms of knowledge

(D) Exp s'designed for the child and curriculum reform.

T , 2005 ¥ * T sram’ i & oria sifue wee fem w ¥

(C) dral & forg 31 & €y § difom avaEl &l
(D) el & forg Tfad AgHa Tl TTET G A |

The National Curriculum Framework, 2005 suggests which of the following
examination reforms ?

(a) Class X examination optional

(B) State level exams to be conducted at different stages of school education
(C) Competitive entrance examinations optional

(D)  All of these.

LT [ P.T.O.
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28.

29.

30.

10 [A]

T e wuiEn, 2005 # = H ¥ frm wen gremdt gurl s g e g 2
(&) - X qden tfess ,

(B) Teremerdl fogn =t fafim srerenel TS TR F wE 9=

(C) wiaarft yaw vharedi w1 U=

(D} T F A

Reducing stress and enhancing success in examination necessitate

(A) A shift towards shorter examination

(B) Examinations to be conducted at different stages of sc Qation
(C) Annual and half yearly exams @

(D) Setting up of different agencies for conducting e ce’ exams.

qA1E Kl FH HH e wdaad § gwed & fae ¥

(&) A oTafy W wamel § s

B) Toremer fian =t fafvs =2l | wansi

() i we ergafin wierd

(D) Tafwm waw Thanstf & fou fafd 1 T |

The purpose of evaluation is

(A)  to label children assslgw le r and gifted children

(B) to identify chil O@ eed remediation

(C) to diagnose difficulties and problem areas

(D) to provide feedback on the extent to which we have been successful in imparting

educati r adproductive life,

HeARA

(A) Tt ifa | HiEm et td gfaamenel el & T H oiee FE

(B [ ! STIRICTS e &t STeavEsRal €, STt UgEH Rl

W1 HiGARAl o FHEN T &1 61 GG A

(D) TR wad SR & g fren fFa @ o AR = wE €, 1 giEee weE e |
For primary school children, which of the following is better ?

(A)  Video simulation (B) Demonstrations

(C) Hands-on-experiences (D}  All of these.
ety el % SRl o o e # R S oA ¥ 2

@ faden sgE B  weuE

(€)@ % g fora T Sy D) TR

(LI 101 |
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HIET -1

fe=<it

9 @S H F 30T ¥ |
[t 9o sifqard € C
31, ‘foue™’ v § 2

(A) T (B) &
© fomi @ty ( %?ﬁl
32. ‘v’ W= w1 wiu-famsg g @

(€ d+3m @[D) g9 + 7 |
33. fot & oo €1 & %

A TH @ B) =
() = Q (D) 3EfET

34.
) B) @RI
©) (D)  wge=d &l e |
35. | FAM o IIER HTE ufiEdq 7€l g € 5% el ol §
&) T2 B) fo=rl v
©) AfF=rt W= (D) YUEEY |
36. W= % el ®Y H =TI HIC
@ fem B fafon
€@ TR (D) qom |
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37. ‘wfa’ = Sifdan s g
(B w=fg
© watas (D) wfaast |

38. HERd ¥ ¥ W W R A o et wRad % v 9 € weam ¥
(A) EERd (B) dW=d :®

© T D) = |
80, i it W 2 T W €1 A R ¥ &9
&) FE e (B)
(C ¥¥H §HE ( .
40. YE IR T
(A)  ISEE %W
(C) IeE 6@@) Eaas Gl
41, ‘&ew = foaeim wss
@A) AT % B fa=
c = Q (D) & |
42. T 89 fom ' %ﬁ‘mm%?
, 3 (B) g, g4, =S, FHW

() , I, <R O s, ===, e, e
43, Toro M ¥ 'y’ Sl T € 2

@ P& (B) P«

© % D) FIE |
44, ‘A YA R EN FA UK HgA R ?

(&) g B) e

© f== (D) = |

I 101
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45. T5E¥ v w8 HWeArara® €1 ok S et waE e Ay s 5 Fe E

(A)  FHYE FHH (B) &% 9HH
(C)  sreEHtaE wHE (D) fgq wHE |
46. TF WU

@ e | B i ®
C) - D) ¥ROTE | 0

47. ‘TR H @A o’ # we 96§

(&) W ?W&

€ Ay @
48. wfdaras o T & < :

(@) e <E§

(C) whel T |
49. ﬁmﬁﬁmwﬁﬁm?m

(A ﬁn'mém@aga 9 B G TR

() Ten A fadfAl a0 (D) farR @@ |
50. ‘agm:ﬁmw%um% |

A)  gEvarEE * B) TAsETEE wEH

(C) (D)  AFv=FErEF T |
51. HI® FHAAF T ?

A T (B)  Hian Uz W7

(©  qu wfafed gga s w4 (D) == |
52. ‘w4 EERe’ o fEd wed € 2

@ SrTsrRE

B) SR 31 W@ | wHx § 371 S
(€ Toed wH i 3R sre fFand &
(D) Tood = 32y, U fade o us € fear & |

(A 101
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53.

54.

B5.

56.

57.

58.

59.

60.

14 [A]
"HTe SR S RT3 A o 3R9F €
(&) =BT B) R
© g (D) F=R |
= A 9 fifgg a ©
() =W WR B) H vgm g R
© g g D) TN RE 2

et & FoH F 3ga w0 wHg g fam fog & v e s € 2
() TowrmarEw fag (B) éﬁﬁﬁa
€) yyETEE fom (D) |
(@A) U TS S P, wel ¥ ? Q~
© <o s, wE R @,
A R E It RC T 1 @awm?

(A H gas AgEE

(B) =gd =S g
(C) Tei w1 =W H (D) ®1™ e |
‘T R S Afaa €
(A) FFHT 3T S B)  SEFR B S
€ W E S (D) IS S <@ @I |

(MAHTHEN
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SECTION - II
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

31. Choose the correct order of words :

a) Do you live where ? {B) Do live you@@
{C) Where do you live ? (> Wheg€ you Ii
32. Which of the following has a correct sentence pat

(A) He gave her a book. a book her
(C) He her gave a book. book gave her.
33. Complete the following sentence with
The sky suddenly became
(A) darkly (B) dark
(C) darkness (D) darken,
34. Which one of the followt '@ s i1s a noun ?
(A) Write (B) Wrote
(C) Written (D) Writer.
35. Supply the co rgnoun :
Arun an ve a house. «....cocoviiiniiennnnn, house is quite big.
(B) His
(D) Theirs.
36. Pick out the verb from the following :
(A) Create (B) Creation
(C) Creator (D)  Creativity.
37. Select the correct verb form :
Sachin has ..................... many records.
(A) brokened (B) broken

(C) broke D) breakened

(T 101 [ P.T..
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38.

39.

40.

41.

42.

43.

44,

t6 A

Fill in the correct form of the verb :

The train had left before I ..................... the station.
A reached (B) had reached
(C} was reach (D) was reached.

Complete the following sentence :

fwe . .oiiiiiiinns a lottery, we will buy a car.

(A)  will win (B) have won O
(C) won (D) win. Q
Supply an appropriate determiner : L 2
IThave ...cocviiievnvcninnnnn. glass of milk every mornijsig.

(a) the

(C) any me.

Supply an appropriate determiner :

My neighbour is

@A a an

(@) the any.

Which one of the fol nces expresses ‘possibility’ ?
There are dark cloudsfin the sky. .......ccooeeiininiinnnn, .

(A) . (B It shall rain

(C) (D) It must rain.

Pick out ntence which has the meaning as the following :

No mal is as brave as the tiger.

he tiger is a brave animal

(B) The tiger is as brave as any other animal
(C)  The tiger is the bravest of all animals

(D) No animal, except the tiger, is brave.

Complete the following sentence with the correct form of adjective :

Anupam is ......coeenvininnne, boy in the whole of the class.
{A} the tallest (B) the taller
(C) the most tall (D) the more tall.



45.

46.

47,

48.

49,

50.

51.

17 L-1
Pick out the sentence which has the same meaning as the following :

The last question was the most difficult question.
(A) The questions were very difficult.

(B} The last question was more difficult than any other question.

In Reported Speech the above sentence will be : Q
/&7 o
she return ?

(C) Some questions were very difficult.
{D)  Only the last question was very difficult.
The father said to his daughter, "When will you return ?”

The father asked his daughter

(&) when she would return ? (B) would

(C) when she will return. she would return.

The teacher said to the students, “Be p inyouf speech.”

In Reported Speech the above sent :

The teacher asked the students

(A)  to be polite in their spe@ (B} that be polite in their speech.

(C) to be polite in yo @ gh (D) that be polite in your speech.
Q going out for a few days”.

In Reported speech above sentence will be :

My neighbour said

ldymegthat
(A) out for a few days. (B) he is going out for a few days.
(@) o out for a few days. (D} we are going out for a few days.

Th agnificent’ is similar in meaning to
large (B) grand
(€}  huge (D)  royal.
The word ‘bliss’ has a meaning similar to
(A) happiness (B) anger
(C) darkness (D)  innocence.

The opposite of ‘similar’ is
(A) unsimilar (B) insimilar
(C) different (D) near.

RRATTTRELIN [ P.T..
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52,

53.

54.

55.

56.

57.

58.

59.

60.

18

The word ‘approve’ is opposite in meaning to
A) A confirm (B) reject

(C) accept (D) return.
Pick out the word which is spelt correctly :

(A sinceerly ' B) sincierly
(@] sincerly (D) sincerely.
Which of the following words has correct spelling ?

() knowlege knowledge Q

(B)
(C) knowlidge (D) kn . ¢

Which one of the following words begins ( underlified Jpwi different sound ?
(Al kite {

(©) chemistry |
Point out the word which ends in 0 derlined ) different from that in other
(

words :
R o

flew

B)
() slow (D)  shge.
Identify the word in @m sound ( underlined ) is different from that in
other words :
(A)  seen 2 (B} hit
(C) heat ¢ (D) brief.

e following words has a different sound ( underlined ) at the

(B) cell

(D)  psychology.

Point out the word which has a different sound ( underlined ) at the end :

&) laugh (B) gra&h

(C)  high (D)  half.

In which one of the following words do. the letters ‘th' have a different sound
{ underlined ) ?

(a)  this (B) that

(C) there (D)  thin

(LR [101]



3 O ()
. m& ’
(D) SN
32. Q
T
U3 |
33.
B) EWl
(D) ==
34.
(B)  dTeteh
(D) SR |
35,
B fag
(D)  ToaUH |
36.
(A) T (B) gwHIH
C€) w1 (D) @4 |
37. ‘1@’ gfq wumia
() =g — e (B) UsEHl — Ushd=T
€ T=— TFITETH (D) TdR—T — T |

LN 101 [ P.T.O.
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38, ‘g’ Urdl: € THNET JUITEY qgTI TUA
(A)  seAfd B st
(€ " (D} v |

39. ‘¥ Ul 9€ TN TR THae ®4 4

W B) e @

C e (D)  oTdaem; | O
40. ‘o' yrr: fofufas @R AwmgEy 959 w9

@ g (B) &

) Treem (D) @
41. ‘o7 Ul Y THR FAATEN THora T Hafd @

(a) =

€ wfasfa @) gt |
42. '’ HeITH THARIEI Welld 6

: @ 8
(D) <=

43. " a7 e P&y wiasfd
B frm
o) o
44,
B) TR
(D) SR |

45. ‘Ju:g9A At | wEfgaae geed wiasafa
(A g (B) g
© o= (D) ToAE |



21 L-1
46. ‘afiug: of|m: am' favfs: wafa

{a) Tym B) fedren
€ g (D) =gl |

47. ‘w7 v dfufaws: eifm
(A) 7+ o7 B T+ a7 @
© A+ e (D) 7+ T | 0

48, ‘st + AfY’ 23 9fy; vfa=fs

49. ‘grfr:’ o= €@ sifd
USRS % BN
50, ‘TAEma: o diufaeds: 6
@A) =+ ufye é% (B) &+ iy

(D) @+ + Myl |

51. A9 STy o

(A) (B)  d°TEY TAM

() (D) HHYRA T |
52. ' I YR THM: A1

)  fg B &5

(C)  mHuRE: D) agdfE: |
53. ‘efER’ sfe o v sifa

@A)  IRE: (B) srEvE:

© fam: (D) wgeE: |

WRRTTEEHRTH 101 [ P.T.O.



L-1
54.

Bb.

56.

57.

58.

59.

60.

75
‘TR e T8 wEe-fae: sif
(A) T FFI:H (B) T F FOH
(© THY F FUA T (D) T:F T |

‘ohfed:’ &1 U goIavd Wi '
&) L+ (B) ¥ + By :®

(C) Fg+ g (D) Eﬁ%‘«’mo
‘BY e IgaA: |

(B) HIET: TG FISH
(D) HIEH: HgEHE HIsfd |
HI 3 T R | ST e GEharane: 3

(& 0 foememe wft Testa B)  ¥: fauerm ufa wsfa
(C) H: Ta=meramd wfa st (D) = foenerd vfa m=sfa |
‘g8 AR FH TA A T | ST IR Heparans: i

@ 9 fay ¥4 <gifa B 9 faiu v <=

() W: faum &+ <arfd (D) u: fawe ud zgifa |



A 23

o - o
1- g
a3

-d_?zé_;:zwy 30 ufuﬁ‘-?w
s, l Uy
V-4 @; 2!:'/.,?4 I

U (B . o @
S Ut D) ’

~ ©

&‘“’”vméu’@: 3l

Jii (B O3 (@)
O3 o5l (©
?uga/y’c_l.;_ by iy S

2 (A)

> (O)

S e Ilgf Ut 5 nne

G (A)

Jir (D) g~ (©
e VTS e

4l (B J&T(A)
U1~ (D) s (C)
S ol 127 g

7 @ S @)
S/ (D) U (@
W Ve te e WLt l L 652 LS
g @ )
JiS (o) S ©

L-1

31

32

33

34

.35

.36

37

WENRARE [101] [P.T.0.



L-1 24
el Ll S
Si @) S
$o=f () P ©
?.«-_t“MU/nsm/LEL'x | /;gu%
rJUJ’.’

JAS o) J# (0
se b/ Flwdie dby Qw’vzf

s=F B ’< usf*d”

JES o) @ . e (c
@ e Slul /?..,Lf;/i

de” I»JUJ’:’
S22 ©
c—la L/';-thfg/:u“LfK(KiJ”n

S

A8
?u_?u:“:JJYJEﬂa_JPIZ:&V
R 5 (B) | 3 (A
S Sl D) 2 (©)
e Ll Me U
=T @ Jef )
=¥%$ (D) 2% Q)
e bl U ey
e (B) Ml (A)
£} (D) Jis {C)

St e WSl
+# (B) s (A)
459 (D) & (©

.38

.39

40

41

42

43

44

45

46




e l_,.-'/_bl/"‘b/ “Cor”
7 B (A

st (D) % (©

¢@J}
Li B O o (a)

A D 52 (©)

&J&fuﬂod,ﬁ:ufd;’@;

- ® @ ¢ (A

- (D) @ - (€)

Q fe Sl e S

) Tw
)

¢ (C)

.

% ?(‘_--Ju;( “QJL;(’, ufJ:Sny)
Q~ Wt @ b T (A

. T4 (D) Al (0
S Luf sl Ut
(2SS @) ook 420 Kd»  (A)
& F (D) =ASLN (©
fe éﬂdvbwufu:u}fml»ﬁy GO ke

VAV e
ST el i Bt oIS Ao (@)
ST e S Ul Ui EA (B
IS VY Loz (©)
Juf.:’i,;u?LJq,Jv,L_s/*f lbes (D)

L-1

47

48

.49

.50

.51

.52

.03

L [P.T.O.



L-1 26
S e JE LU e 6 U7 g SV el
1 M o
A I Ay A, L SP A)
e Qg uryd et LN ®
P o TP 4 £/ & ©)
Q;VZ/?L/.L;}?U?}LJ’G)

U b7 g LI AL ST () /¥4 (D)

&?uﬁnuﬁ:’ﬂﬂﬂé(l
6 (B) @ 3 (A)
S (D) 2 (€

ALl v blertizs”
,ﬂwu_:,udwuﬁﬂu:&u/ ©

b o Wi S AL et 2 W (D)
Q~ e AP E

. ¢ B =3 ()
1 o) S0 (©

S X FIe e Y

L (B) @)

—/ (D) ()
Wt

6 (B 4 (A

H ety D) 5 (C)
St UL who 42 L s

‘L/;&c«/}“{}d") (B) ‘ahf‘v&/"]"zjt (A)
gL mds g 8T (0

AT 101

S eoncit JSUISAUYS
et So Ut E S ()

.54

.25

D7

.58

.60




31.

32.

33.

34.

35.

36.

37.

27 L-1
@ uE- Il
WIeT - 1
fedt
fe 30 @ = anfeq |
e W dTH i w1 anfes | @
e s < srqeiE fafd om O
() o R (B) ()
© W (D) ¢
‘Hem’ faar o
(Aa) g smm
© fog asm ToRs ol
fofa vt =1 s | ' S waew T TR
@ = @ B) 598 g9
€ fow om % D) =S |
faeftay §f =8 emgaer
(A 18437 EQ (B) 1853 %
€ 1905 H ¢ D) 1911 F |
EEl bl
@ B WP
( (D) i |
'gq’ TR St WA R
@& B) Sfe=ry
© am D) SEW |
A1y St GgYE AT
(VRIS (B) ®m
) w3 D)y WS |

R [ P.T.0.



- 28

@w  fefm B  wfeon
(C) dhd (D) <feva |
39. oHY @ | HET AR
A g9 B T @
© Tfe (D) == | O
O
(B) ¢
(D T
(B) e TRl
(D) IS e FAEE |
42.
B FEE W
(D) “HR S
43.
(B)  Psat HIEA
(D) gl TA=TH |
44. 7
(B) F9AE
Q) zvq (D) wH I
45, TETE .o H| F4 |
@ "R |  wifas
(€ THE=d D) SR |



[A] 29 L1
46. THH YHHTS o /AT 2R

a) ST aw (B) woies 9K

[C) T=IEs 9% D) g3 g% |

47, < fow o @ fo i 1 e A STE T o @
W T g B W™ O
(© &% fHw (D) % |
48. ‘=€E’ @ St U AR K *
W FE L %/
© @ %I
48. wmwgﬁﬁ'm%m&
(A TF AHH 6 B % fAweER

© &% 9wy (D) T TH |
50. “m!aamﬁaw%."ﬁasﬁmmmmx

() o ¢ B) gl

() D) W& |
51. o SRR @ UgH HL0 g9 HY 381 3N

(a) B Tiw™

(C} wram (D) SRR |

52. ‘SR, &y forg | B @i 9 *fest P fena om
A) &R g (B) a1y3q

© =y D) =g I
I LN ( P.T..



L-1
53.

54.

55.

56.

b7.

58.

59.

60.

30
R3S qEd A R @ @ 95§ R
(a) e g @ fix =
(C) I ©f (D) omfiE @q |
‘Fegl gure’ W o7y AT
A Fw T R feay (B) S HY @
(C) I Y D) e & 0
................. for T AR | &
o
(A |3 (B)
© == (
3T T HU 9 YETh) FY e AT
(A TIFE %aﬁ
€ TEER 6@@ I A 9T, el uR |
ief ¢ shfeesit T S A
j % (B) Ea FaWH
' (D) @ AR |
S SR wee A ofeaw o 2
(B) SR
(D) TR |
‘TfaISt I F e TR R @ 9 B waw S wam o 2
(A) @ W B) §d HIWH
() @ wenems (D) @ gifawewTe |
Wit TH Hfeg AvSH St TI9AT HE ?
(A) WY e (B) o & e
(C) =TI 4™ (D) UHWHN 9SS |

A



31.

32.

33.

34.

35.

36.

37.

31
¥F: I
EAL LD |
Ut
fem ¥7 e 3% 30 yAs o

A YA5 Agd 4| ®
F, o, o, W, ¥ §, TITHH migAg, faodt 28t fagr a7 O

(A} 2t (B] w3HE ()
(C) o=ver &at (D} 3

Urrel 3 89 oo &t 3

(A} fenias
(C) wnist )
I fafun f&F° fagar €3 »ivw adt o7 @
(A) H T
(C) D) <
Unrt g &9 featat Eﬂ%ﬁ?ﬂ?ﬁ“?
(A) w6
C) = 9
far fea SN F émﬁ?wﬁﬁn?w-ma@ﬁmwmﬁ?
(A) B (B)  faoret
(©) (D) a3 €3 fae
frga wue fai dle-Hg, AEs, <Ag wEt oo 7, €R § &t fagr A 32
(A) &= (BY u=s'e
(C) fermz (D) fafanrm
87 wae frgs &' 7 uFsie @ fart gz 7 wae § O, €n ¢ ot faor wer 32
A} &= (B) fehAn=
(C) u=ni= (D) fafenr

L-1

[ P.T.O.



L-1
38.

39.

40.

41.

42.

43.

44,

45.

2
AR {63 yadw 2 g2 75 ?

(A) @ (B) m

(C) w9 (D) f3&

fafenr feine {8 yaw @ &2 057

(A) nis (B) H3 @
€ = (D) Uw 0

35 fafunt (&9 faaz maw vaa adf 32

@A) fa B & ¢

(C) faBfa (D)

87 wiyg frgar foit maw 2 »idt 84 & A 3 8n § ot faor wer 37
(A) H¥e §O L CIEC)

(C) fuse ] JE

35 fafumt &9 fan Aae &% Jfenm 37

(A} nrfamarg @ (B) &&E9
(€ fzeas % D) yaw
wE J A<, § at fagr wer 37

(B) aevt
(D)  faat-iet s=Et

(®) feT 3w 3T &t 31 () Werlz J<t 2w Tt I

(A) few B) <&
(C) Je (D) 3
5 fafunrt (9" feaoe’ o fags ANswEa AEe o9t &7

(A &% (B) =9%
€ yz D)  FgsT



46.

a47.

48.

49.

50.

51.

S52.

53.

33 L-1
‘M’ mEE T I6 fRfu &9 fegdt rae fags 39

(A) ferm (B) uw

€ A (D) 79 &

MEE @ AEIEd AEv faoa w9t 37

(A)  AH (B) H® @
€) fgow D) g O

HT 393 © &t Ut 31 fem o= f¥9 U9 waw faue s 3 o

A)  feA-Twx (B) &

(C) wyo-T9a Q’m

domal, yrt nife 3 eongz wEt fan fog < et 37

(A ferfi= (B) e

(C) @ &(D) yrs fég

fro3 meEe fa o= fo 2 gAfAET A 93 85f § o fargr e 7
(A) fafowr fedms W@ (B) HHux

C) feime D) uzst®

D) =

‘BR 3703 funrg dieT # @R § fagma fest - feo faR yee o e 3
A)  fyr3 (B) Fgas
(C) wO9s (D) &=t Bat

ezt fell fmert 767" - feo far yao v e 37
(a)  femiterga B) yFBewd

(C) T-T=x (D} ATO9s

AN (P10



54.

55.

56.

57.

58.

59.

60.

34 [A]
‘st g g dt gt I - fev fan famy e v 37
(A) I ferfra (B) Haue! ferfHa
(C) +Ax Tva ferfra (D) YAAT T9d ferfHa
Ag® 8¢t av gel 37 - fem o fieu faaar fiig wafanr famr 37
() fenfra B) yAa fig
(C) 3= (D) fog<l ®
: -wém%éﬁﬁﬁﬁﬁw?ﬁ?@nwmﬁm@ﬁ?ﬁﬁﬁ?
&) e waE (Bj wj& °
(c) sfdet D) &
A% dEt 3'0-gav fAdt aos Guds &N a9 ¥R B eE ToianT A 37
(A) =% féu gt Yo g aH-av it &7® §H dar fAos 393 kR AeE
(C) wHadligufeB ugriamwd D) Het '3 yagx
Ae gzt fengst far 3 w9 & €r @ gaAs JT @ 39 9¢ 3 fen Afast fée fagsr

Algr Hoed ®El fags g daeF 37

(A) feR g 97 & urz ®Et e (B) faA g u= wet @

() faR ggzr uE B § €37 eF (D) faR @77 ¥z T8 § wgs™ %
‘nigt & BIXY yoed wEl fagzT niww Faer 37

(A4) e duE (B) ¥IS WW I

(C) i3t feg Tovw d= (D) U9 @ gy



31.

32.

33.

34.

35.

36.

35

vis : II
ounl : I
aer 21l

L visHi §d 30 uza 8.

E25 URolall crauol 2Hual s20%aud &.

Grazer 2A4A aiedsllell Su e Sla cu? Gaud adl tdled ¢ sdaia O

(A) alutals (B)  aelntafa C)

(C)  sporls tals (D)  uell 1. ¢

oldcitiell sall @icral £ @Ricyal 6§ ?

(A
) ¢ Yy,
2ifeL sl : [ + 20e @

6 (B) [ane

(A) [Qzue
(C) [a=gue (D)  f{A:2ue.

“adleeoL’’ noedll 2ifE1 f9dh sl
(B) &3l + deeo

(D) &2 + g9,

‘“ 3 [Gor eald & 7

(A)  yl&n B) M@t
()  ojrusl@ian (D)  2vucaf@or.

olldatiniefl sa1 AvEs] vigaAa S2di Ao S16 Ut ALl def).
(A) uda (B)  uwl

Q) ypds (D)  well.



L-1 36 @

37. 2i2gadidl slduvel mdet uRadel qs1 ymad spvudiii Gadl sudeu Avela Far oleel 58 & ?
(A)  aciy (B) dgMd
(C) ¢2a (D) (agel.

38. ofldetiniell sal piee (Aol awe & ?

(A) Rersla (B) By suzu

(C} | ussl (D) qsld. C)O

39, dlAonniell 51l 21ee ViNW el 20e & 7
2
(A)  sid2 (B) da

(C) [dla ( 5.
40.  oflAsuniell sl 210 ““vil2”’ wveoll yalAl ot %
A ala % s{S2llol
(C) sauet @ (D)
41, “‘mduiza’’ 2cveoll ([qRlEll el ej e@
(A)  dlell % (B) QzuerR

(C) [atla (D) .

dlel.

42, > ifie A5 21ve aawul.
(A) (B) oultus
(C) (D)  unl.
43, 47 ol 2L cveldl.
A s (B)  sdaea
(€C)  ayu (D)  «gsdld.
44. Guadl eleeddl 20l 56 o2 2ud S ?
(A] s (B) wsn
(C) aA (D)  wica 2eud.



45, “‘vifdime”’ ui yduca els Judt 52 & 7
(A  wg By ol
(C) v (D)  a&uR.
46. Iaradl eunpi uesH saAL 5N Sl B ?

(A)  sd-sdl-(auue (B) sal-si-(sauue

(C) Bue-5al-si (D) si-(Bawue-s

47. ollAapiiell s ue ilsdanus s ud B ? C
(A)  [es (B) & *
(C) Rl ( @

48, “Udl clell s g2 8. ui ([Geluer 8 ue %
(A) Wl @Q el

(B)
(C)  dusl (D) g2

49, “ul Be a3 &di.”’ Hisadott 591{5 ) 7
(A) o (Bl [(Bo
(C} ola Q * (D) o

50. ‘231 20la dua i Bauue 53 & 7

(A) (B) Ma

(C) (D) 8.
51. U’ qisA SAL USR] & 7

a) sdR (B}  sion

(© cud (D)  2isd.

52. ‘“‘Ruas adal suca o=’ Hi Baldelyer s2f & ?
(a) Rias (B) adau

(C) 2l (D) atefl.

L [P.T.O.



L-1

53.

54.

55.

56.

57.

58.

59.

60.

38
asA Y A ce 53 ([Apliga ysami 2ud & ?
Ay yelldzm (B) aculdzm
(C) ElRm (D) sadzel Rgst.
ol Aatnizll Geouzlicat 524 & ?

A . (B) ?

cy ! o /. O
“gon sitzdl’”’ ol el veudl. ()

L 4
(Al wd seql (B) Q s ugl

(C) 2u$ 524 (D

“Rud crdl” w2 sal 3(zuAld quaia B ? @
(A)  udesd % U1 adl

(C) uat oidiat @ (D)  uost Zlel usat.

“s1zolla Yl ouRd ut[%eaiq oydly 6’7 aisedi san 3RuAVdel Guala sdl esia.

(A)  eani dq (B)  aitL nadl

(€C) &2 o121 dilaq (D)  tiv Hleud).

“Addl «12 A&l ! oD (RUEN 58ad ofldenniell s6 & ?

(A) ollc dai (B)  uig SI6Al Gi§ vi2siA
(C) 121 2l (12121 (D)  ciecdl Aal dadzef sB1L.
i & avai”’ ol 2euaell sédad 56 & ?

(4) Ude Avflad Uls1 Giell sd (B) Gdadl Hivil o ud
(C) etlsa Adl eilsa (D} 6121 Gslaal.

“slis azlaq’’ ol vel gf ala ?

(A) ez svdl (B) Gy 2lvidl

(C) el vidiadl (D) WA 52,

[T 101



61.

62.

63.

64.

65.

66.

39 L-1
©ve ~ I
TaT - 11

fe=ht

TMEEHFA 30TH © |
quft 7o sifEE § :

A 2,337 (B) éb
€ ¥9%4 (D) 9 |
[ER RS (e i A %

(a)  3Afew

© g @) & |
‘a5 el @ 6

B} Y+H+A+H+ A

© t“"'“a’“ﬁ@ (D) QA+ A+ A

B) 39+ AR

(D) 3 + TR |

Fmsvdags A §

(B v= % f98 w7 9 3% @ WiivEl # §Em w5 9y 9

C) v & 99 &9 @ fFdl &t wifa #1919 ®

(D} v=% & fow w9 A w 9 a1fus =Afwal @ aegail onfg =t &y &1 )

fr T & vt v 9 § 2

(A) e, oA, AR, HiER (B) TEIER, 39E, JEHCH, AT
(C) <43, ¥di, Teedr, T (D) HEES, I9E, 9E€, T4

AT 101 [ P.T.O.



L1
67.

68.

69.

70.

71,

72.

73.

74,

fre wgE & ot v fadet ¥ 2
(A) fowdmE, g, d@au

(C) HRE, wEeH, Felt

40

(B)

D)

e T & quft wiee "usr & wafarh € 2

FE, M, TS
w9, HeTfaTTe™, THE |

() I, 95, Tl | frmw, wnﬂ@
(C) &ureRy, werE, faemmg (D)  STHATE, TH], u‘@

fora g o faoim wse T/ § ? ()
W RS

B) wfEdm — S @

C) vy — RICkil @

(D) uRET —

‘Hr' %1 faeim e ® @E

(a) g 6 B e

(C) oA (D)  srEardt )

Hiq 'SteA’ @ =g g2

(A ST (B) WmoT

© fo=t ¢ D) =g

o w=ai %, v a1¢f g1 € @ Feena §

(A) (B) vEigaTH w=

[ 4 =g (D) s W |

v o & ot vl F W € 2

() @yd, g, e B) <aw fefom, amrf

) Tfew, wiww, =™ (D) ¥R, THEd, FHheh |

F THe-faue w8 T/ § 2

A TE-U ;T SR e B) YO : U= ¥ fawd (@)
€ Y=eE : [&F 3 e (D) geirer : g € e e |



a1 L1
75. ToEe! qgen 75 favmw iR o 1e favrsy €1 59 wed &

(A) FHAVE N B fgyaww
(C) TS ¥HE (D) FHYRG TG |
76. '@ IR U & W9 F v % fou aifus v & e
&) yfs (B} YmH
) (D) ®m™ 0@

77. '3 0 T 7gF % fou waifus svge w wee @

(VIR [ (B) dR

[C) =sm (D) ¢
78. H yoOg @ A R’ fadieer earae w0 4§ &l

@A =

) au |

79, @ UF THEEE G F Y 2

@) =, I, €8 @(B) e, q, 0

© T8, @, 7o %ﬂ (D) N, TS, % |

80. W&l & fFm & @7m ¥R ol fiFmn & ¥R & 9y O ¥ R — A veee

), el ged fwa
(A} TrehiferR foRa (B) EFied
. (D) fTwEad® figan

qee 1 WY gEY Ve, A I1 IYErE § Wied a9 ST # wEd &
F G B) fowmfcEus =9

81.

(D)  3T9ee o= |
§ frone fRai ® 2

82. fHEaH
(&) TG §Ed T T ¥ B) FFEE @ % g8 I8 Fea g
(C}) 39 9gd SRR & (D] AR F o TuFA & |

83. =M fug g & ?
(&) =% g, feeg foet @
B HWmuwe W
(C) o ¥ faeet Taada
(D) T% HE-T1 6 & e Term it 1 9% 7 g E

INRATTTRETIN | PT..



L-1 42
84. ‘T aman, g A fien R qig wie ™ ' ww A ¥

@) g T B) wgH TH
(C) TS =y (D) wfed s )
85. et a2 oiw o1 @t w9 v & fau fea fag = w@m femr s & 2

) e g 1 9899 g faE (B) 79 fauw @
© g fwm FEF | O

(D)

86. weEl faum fagl e A A & ? ()
B o g A, AW A g e ®) ﬁ&ﬁﬁ@ﬁm.
€ fo:! g @ Am g fewn | (D) %ﬂmﬁ,gﬁr&m!

87. @i el el AT & ? @

(3} O W QY AL A FIH F
B) STH F G EA ;T @

€ Prig e : R ®m FQ HEH A
(D) & 9% & S ® S |
88. & 7 Wt } ?
(A) O W Ey 3<% T
B @A TE qehIeh T WEIT HEAT
(C) [ I 9A1 : iR A 9 & Frrat W
(D qig He A : HWR= g S
89. ‘Bd w1 w1 ad ¥
&) TER ' S B) @d#H g ws
() o« et @ & (D) @A ¥ ™ T |
90. {0 #H WM B’ F AhwF ¥
(&) T F «w fam S B) {1 = s fo@t S
(C) oo # fas1 ug (D) ¥ Fw=R GO B S



61.

62.

63.

64.

65.

66.

67.

43 L-1
SECTION - III
LANGUAGE II
ENGLISH
There are 30 questions in all in this Section.

All questions are compulsory.

Which one of the following words is an adjective ?
(A Use (B) Useful O
O

(C) Using (D) Usefu
Complete the following sentence with the correct optién * *
My grandfather walks very .................oo..e. .

(A)  quick ( a

© fast ) ce.

Which one of the following has a co
{A)  She put all the books on

ct's€ntence pattern ?
B} She all the books on the table put.
(C) She put on the table all 0 (D) She on the table put all the books.

Choose the correct pron mplete the following :

This book is .......... d that one is mine.

[A) our book (B) your
(C) yours (D}  yours book.

Choose word order :
{A) he'did leave so early ? (B Why did she leave so early ?
did so early she leave ? (D) Why so early did she leave ?
Pick out the correct sentence :

(A) There are shop near my house. (B) There is shops near my house.
(C) There are a shop near my house. (D) There is a shop near my house.

Select the correct form of the verb :

She .....coovvivininnnn. the right answer.
(A)] knows 13]] know
(C}) is knowing (D) ‘known.
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Fill in the correct form of the verb :
When the phone rang, we ............occoeeeeen. television.
(A) watched (B) are watching
(C] were watch (D) were watching,

If Radhika had received an invitation, she would have gone to the p .

The above sentence tells us that Radhika @

(A) did not receive the invitation (B) had received @t tion

(C} is waiting for the invitation (D) did no wa@o to the party.
Fill in the appropriate determiner : L 2

The ring is made of ..................... gold.

(A) the

(C) x(nodeterminer)

Complete the sentence by putting e determiner :

You should always carry ........... [ brella with you.

(A) a {B) an

(C) any (D) a few.

Manjit said to Anis o u please open the window ?”

In the above senten anjit is

(A) stign (B) giving an 1ﬁstruction
(C) i vice (D) making a request.
No o er in the family is as intelligent as Raju is.

Th ve sentence has the same meaning as

Raju is intelligenter than any other member in the family

(B} Raju is not intelligent

(C} Raju is more intelligent than any other member in the family
(D) Other members in the family are not intelligent.

Complete the following sentence with the correct form of the adjective :

It Was voveeiii e car he had ever driven.
(A) the more comfortable (B) the most comfortable
[C] the comfortable (D) the comfortablest.
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Choose the sentence which has the same meaning as the following sentence :
Mahim got a higher grade than any other student in the class.

(A) Mahim got the higher grade than any other student in the class

(B} Mahim got a high grade than any other student in the class

(C) Mahim got the highest grade in the class

(D) Mahim got the high most grade in the class.

Mchan said to Savita, “Can | borrow your book for a day ?” O

In Reported Speech the above sentence will be O

Mohan asked Savita

(A}  if he could borrow her bock for a day ¢
(B) if they could borrow her book for a da
(C) that could he borrow her book for a
(D) if that he could borrow her boo
She said to her brother, “Do not
In Reported Speech the abov
She asked her brother
(A)  to not buy mang (B) not te buy mangoes
(C) donot buy S (D) do not to buy mangoes.
The students said, “We want to learn a foreign language.”
In Reported Speech the above sentence will be
that
nt to learn a foreign language
ey wanted to learn a foreign language
we want to learn a foreign language
(D) we wanted to learn a foreign language.
The word ‘courteous’ is similar in meaning to
(A) related to a court (B) impolite
(C) polite (D)  kind.
Which word has a meaning similar te ‘significant’ ?
(A) prominent (B) magnificent

(C) efficient (D)  important.

LT [ P.T.0.
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81. The opposite of the word ‘optimistic’ is

(A) pessimistic (B) hopeful
(C) ideal (D) dull
82. The word ‘innocent’ is opposite in meaning to that of
{A) clever (B) ignorant
(C) active (D) gullty.
83. Pick out the word with the correct speiling : O
(A}  varaity B varietey O
(C} varieti (D)  variefy,

84. Which one of the following has the correct spellin

(A} impresive
(C) impressive i essiv.

85. Point out the word which begins with ound ( underlined ) :

(&) house B} home
{C] honour (D) hen.

86. Which one of the followin ends in a different sound ( underlined ) ?
(A) city (B) sky
C} by (D)  try.

87. Identify the word which has a different sound [ underlined ).in the middle :
(A) ¢ (B) should
() Dy  food.

88. of the following words does the letter ‘i’ have a different sound

B) final
[y fit (D)  film.

89. Pick cut the word in which the letters ‘ch’ have a different sound ( underlined ) :

(A)  check {(B) chess

(C) chemical (D) chairman.
90. Which letter of the word ‘comb’ is not spoken ?

@A c B o

(€ m (D)
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(C) elag eufid.
Rielel eNBapi ulaisat Hidl gL 2 delp?| 5& & ?

(A)  2qfa (B) 21281

(C) e6laRsi (D)  w2lHau.
ool WBaa 2Hien? 83 ol valor wl,

Hal A yedlefl 65ud HALAS a1t dl

(A) W vitnal Yadtell &5 B

(B] icad ceidlell &5 Slddl atell

(C) otud wadiel 655 6, 202l Mteeld sRidlsll §55 ctell

(D) ivil, Hopra ol ugHIA etilciell 284,

slad Fec 23A M2 yedlell 210 o1eiq, & ?

(A)  WddlerR (B)  ditu 2a4a wie

(C) &5l 204 Hie (D)  Ucid ¢51 20A M.

DL [ P.T.0.
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82.

83.

84.

85.

86.

87.

88.

89.

90.

IR

66

sz 12 siept quisld e sAl & 2

(A)  egud (B}
(C) & (D
5ol um sleL 8 ?

(A) o dlsl (B)
(C)  ugp-uvil (D)
Sle2lolt 52Ul Us1RMi 2\ ilsual sla & ?

{(A) onda (B)
C) &g (D)
“o 52 ned wej, d void uz 2uel 52.” Hi Sldl
A)  Guas

(C)  Hdl

Wdtett @2 uld o dvia yasd 2j sélejy?

(A)  vadlsetailel B)
(C) wdaaqaid (D)
slcatoll SN2ucloll BHIEUR ¥ el g ?

(A) ®&¢ (B)
(C) os (D)

“tol and golla
diS2lal ALEL 90 sHiscll Uratlsll vadlol Il
A5l ell eziadl ewe 521 8 ?

(B)
(C [ (D)
‘Uler’ Aed ¢ ?
(A} gd (B)
cy el (D)
diseHi s el @5d &dd 8 7
(A) ed (B)
Q) [aeu (D)

Q2§54

eelqg

uvll, nepra, uey, slesl

W E TR cm:t d

21lde

wadiel

SUHSL,

ulsdell 2iven

MESI2.

nid usoll Gu2 [AR S2di Ul y»ig ma Adl Ruk 8.7

gollau
Rula.

iVt

ol

Gecu

BIeiE .
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Section -IvV /s @us - IV
MATHEMATICS / Tifurd

There are 30 questions in all in this section.

All questions are compulsory.
W EE W T 30U E |
: ot e afrerd & 0
91. Write the following four numbers in descending order : 0

I. 4203567

& N
I, 4203657 @
. 4203756 @

IVv. 4203675

A) LI I IV @2(5) I, IV, 11, 1
(D)
g .

(€ I, 1, IV, I 11, 1L, IV, L.
frfafeg =m dems =i
I 420

1. 4203

(B) I, v, 11, I
D) I, 11, TV, L

92. One crore is equal to

(A) 100 lacs (B) 1000 lacs

Q 10 lacs (D) 100 thousands.
TF FUg TR T

(A) 1009 E F (B) 1000¥™@ %
(C 10T/ H (D) 100&9H & |

[ .
(IR 101 [ PT.O.
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93. The number 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be

written as
(A) 59004988 (B) 590400988
(C) 509049088 (D) 50904988.

&4 5HUS 9@ 4 TAR 9T F3 &l iep] H forg W W ghan

{A) 59004988 (B) 590400980O
5

(C) 509049088 (D) 88. ¢
94. The population of a village is 78692. Out ¢ 642 are men and 28167 are
women and the remaining are children. Th number of children is
{A) 20883 @ 21883
@ (D) 20783.

(C) 20893
TH M G TGS 7 @ﬁzgmzw% 28167 Afeeq € qen 99 7= ¥ 1 A
< #t wew #

(A} 20883 (B) 21883

D) 20783.

95. ero by 60, then the dividend, divisor, quotient and remainder are

(A 0,60,0 0 B) 60,0 1,0
(C 0,60, 0,1 (D) 60,0, O, 1.
YA H 60 F YR 37 T 9, WIS, IITHE Td A FA9: §

(A} 0,60.0,0 (B) 60.0.1,0

{C) 0.60,0,1 (D) 60, 0, 0, 1.



[a]

96.

97.

69
The value of 15 coins of 25 paise each is equal to

I. 3 coins of one rupee + 1 coin of 50 paise + 1 coin of 25 palse
I1. 2 coins of one rupee + 3 coins of 50 paise + 1 coin of 25 palse

III. 3 coins of one rupee + 3 coins of 25 paise

IV. 3 coins of one rupee + 2 coins of 25 paise.
In the above four, the wrong statement is QO
@ 1 (B) m&o
© 1 (D) @
25 %8 ¥ 15 faadi &1 WA T § @
I. TH% & 3 fags + 5090 + 2510 %1 % o
1. T&HToF 2faas + 3 + 25T =1 w= faam
. THTo&F 3 Y& 3 faas
IV. &% &F W F 2 g
IT® IR H | e
A) ¢ {B) m
(€ D) IV,
Th ement of the fractions % . % . % . % in ascending order is
w2150
ﬁﬁﬁ% % %,%mmm%
w345

L-1

[ P.T.O.
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98. If the cost of 5 pencils is 3% rupees then the cost of 2 pencils is

N LD

{A)  Re. g (B) Rs.

eI

© Rs. 3 D)  Re.
gfe 5 4faell &1 ge9 32 o ¥, 1 2 Afwell &1 = &

3
@ 3 %o (B)

. O
iv, O
4 2
(@) 3 To (D) To |

99. Which of the following statements is true ?@
(A) 1 is not a prime number @; (B) 1 is a prime number
(D)

(C) 1 is a composite numb%

= ¥ 4 FH-1 FF

2 is not a prime number.

(A)  1snTT Hem (B) 13w HEA R

14 (D) 2 HINg & 78§

100. The actors of the number 720 are

2x2x3x3x2x5 (Bi 2xXx3x4x5x6

(C) 3x3x4x4x5 (D] 2x2x2x2x3x3x65.
& 720 % 3194 OGS §

(&) 2x2x3x3x2x5H B) 2x3x4xHx6

Q) Ix3x4x4x5 (D) 2x2x2x2x3x3x5,

TRV 101 ]



] 2 »

101. What iIs the highest common factor { HCF ) of the numbers 425 and 476 ?
A) 4 (B) 5
Q) 17 (D) 51.

FEAE 425 TU1 476 F1 He9H FAMEHE ( Ho To o)

@ 4 ® 5 O
{C 17 (D) 51. O
¢
102. What is the least common multiple ( LCM } of @ 90, 60, 75 and 35 ?
) 2700 ) 0
{C) 4250 2750.

F&HA 90, 60, 75991 35F] (FoHoWo ) ¥
(&) 2700 (B) 6300
(C) 4250 D) 2750.

nt a'house in 3 days when they work 8 Hours everyday. Then if one

*
urs everyday, how much time ( day } will he take to complete the

103. Five persons p

person work

15
B 5
2 D) .

T T F1 qae 5 AMH, 8% U9 W F 3fF d Fw & @ 1 =fw, 4 ¥ U9 W w0
IW T T fee fe7 § = 2

15
(A) 30 B) 3
© ¢ o <.

(L [ P.T..
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104.

105.

106.

72 [a]

The marks obtained in 4 subjects in an examination are 200. If the average of marks

obtained in 3 subjects is 48, then how many marks are obtained in fourth subject ?

(A) 50 (B) 144

© 152 (D) 56.

TF wWien A wr fawdl § W g sk 200 ¥ 1 Afe = fawamt § wm oiw 48 % @ =
foma 4 ym afw B

(A) 50 O

{C) 152

(B) 144
*
(D) 6.
A person sold a cycle at Rs, 935 with a ga@ en at how much amount did he

purchase the cycle ?

(A) Rs. 945 @2}3} Rs. 850
(C) Rs. 925 6 (D) Rs. 1,085.

% =iF 3 TF gfFd 9 0% TN T o=t a1 39 98 aiefae fhad To o @<t ot ?

&) 945%o (B) 850%o0

(C) 925%0 L 2 (D) 1,085 %o |

A perso k'8eme loan from a bank at the rate of 15% annual interest. I he pays

back 0 after 3 years then what is the amount of loan ?
Rs. 5,000 (B) Rs. 4,500
(C) Rs. 6,500 (D) Rs. 5,500.

T =f® A TF | TS T 15% qfeE = w R W IR feran | v W 9) =@ 7,250 To
e o &, A 39 Fora waan SUR foan a1 ?

(A) 5,000 %0 (B) 4,500 %o

{[C) 6.500%0 (D) 5,500 %o |



107.

108.

109.

73 L-1

What is the interest on Rs. 500 for six months with a rate of interest 8% calculated six
monthly ?
A Rs., 20 (B] Rs. 30
(C) Rs. 48 (D) Rs. 40.
500 To FI 6 HEM FI1 8% &1 TUET X A =T &I O
(A) 20%e (B) 30 %o O
A

(C} 48%0 (D) o |
A person X sells an article of Rs. 100 with a léss to the person Y. Y sells it at a
gain of 10% to another person Z What i cegat which Y sold the article to Z?
(A) Rs. 100 @2} Rs. 99
() Rs. 110 (D) Rs. 101.
TF Af® X, 100 Fo & RIMAAGT Yy R IG@ME | ¥, AT R 10%
av | Afe zFH 99 8 yoa W axg Zz =1 &= 2

B) 99%o0

(D) 101 %0 |

a plane in the following ?

(B) Glass
(C) Ball (D)  Cylinder.
ot et § A -G T § 2
U B) ™
€ e D) &eA |

(T | PT..
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110. Which of the following statements is not true ?
(A)  The figure formed by two rays passing through a point is called an angle

(B) A closed figure formed by three line segments is called a triangle

(C) A figure formed by three lines is called a triangle @
(D) In a rectangle the length of opposite sides is same and @ ngle is a right

angle. O
feaddsR mawE T ? & ¢
@A) e f9g @ oA 9§ fFo | s wed ¥

(D) 3G9 &I AAA-TEA &I THMA gl § 991 TUF % GHS0 B T |

111. Which of the followi 'r a triangle ?

(A)  All the angles always acute angle

*
ways a right angle

(B) wmmaﬁﬁgws@ 3
(C) w?ﬂﬂ%@aﬁﬂﬁﬁa@ﬁgig g

(B)

(C) e is always an obtuse angle

e angle is always an acute angle.
faR mF e fd A sF-w w2
(A) HE HI Fed F HI ET §

(B) U IV U WAV Bl B

(C) TU&F v Fea Ffusk +im g &

(D) & S0 ¥H 7 HI0 A & |
IHARRRTAn
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112. How many triangles are there in the following figure ?

o

A) b (B) 4& .
© 3 (D) @
Frer o & T Py & 2 @

4
6.
360°
(C) 270° (D) none of these.
= & = A= G g #
a)  180° B)  360°
(C) 270° (D) T8 ¥ +§ 7T |

(LN [ PT..
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114. Which of the following statements is correct ?

115.

(A) A square is a particular type of rectangle
(B} A rectangle is a particular type of square

(C} Every ray is a line segment

(D) Straight angle is of 90°. < O

A d AT FA T ? & .

@ = TF fady YR & A R @@

B) oad U fadw yR &1 = g ® Q

€ ¥ e T YErETe g @

(D) HY / WA H Y o |

One has to run /@ es to take one round of a ground. A girl has run
75000 centimetges. en how many rounds has she taken and how many rounds

¢
o take in order to complete a run of 3 kilometres ?

(B} 30, 90

D) 30, 9.

ot #em 1 TE wF AT ¥ 250 @ e weA ® | TF @igSt 75000 A A gt & (@ W
fa wapt @ R 3 ferht #1 s ¢ 0 & fog 3@ o fae wE @M g 2

A 3.9 (B) 30, 90

€ 3,90 (D) 30, 9.

R 101
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116.

117.

118.

77 L-1

On subtracting 8 metric tonne ( mt } 50 kilogram from 12 metric tonne 8 quintals we

get
(A) 3 mt 8 quintal (B) 4 mt 7 quintal 50 kg
(C}' 4 mt 8 quintal 50 kg (D) 3 mt 8 quintal 50 gm,

12 tifes o= g faa=a § ¥ g Hifeswr =7 50 oo™ e W w8 ¥

@) 3HfeE 1 8 faed (B) 4%2:@ el o

() 4w 27 8fagea 50 fFa Im o 3 = jecd 50 Tvrelt T |
.

A tank has 400 litre water. 1If 12 litre 500 ml wai€r is u from it and the remaining

water is filled in 25 cans of same capacity, at he capacity of each can ?

(A 12 1t 500 ml 1t 500 ml

(&) 15 1t 500 ml (D) 14 1t 500 ml.

& IHt H 400 A I § 1 TEH 500 firefieiet THt & & o9 & &g 99 I &5
A & % 25 fei o j o=t = sy @

(&) 127t 500 B8 13 500 fHelt

(C) 157t 500 (D) 147t 500 fHe |

Which of owing statements is incorrect for the time taken by big hand of a

from one digit to exactly next digit ?
(B) 300 sec
Q) 1172 hour (D) one hour.

ol ? 98t g€ & Tdl oiw A I T oiF v TEen | O arel wa & foe e § @ -
AT ?

(A) 5fe (B) 3009 *=<T
© g D) TF e |

(LI [ P.T.0.
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119. The length and breadth of a rectangular field is 60 m and 40 m respectively. If on the
outer of its four sides the grass of 5 metre width is planted, then the area of grass

planted field is

(A) 1100 m (B) 525 sq.m

(C) 1100 sq.m (D} 525 m. 0

TF AR HgH &) =R 60 W a1 g 40 ¥ TEF 57 =g &
U S S ) 9 e diefl S8 1 S9Ed g ¢

(A} 1100 ( %( i
© 11009 Q( 525 |
120. A rectangular photo frame X is @ ngth and 70 ¢m width and a square frame Y

is of side 80 cm. Then whicli o owing is correct ?
(A)  Perimeter of fr V@SOO s$q.cm
(B) Perimeter of e Y is 6400 sq.cm

*
(C) both X and Y frames is same and is equal to 320 sq.cm.

er of both X and Y frames is equal to 320 cm.

fo & W0 X1 T 90 At g SR 70WW ¥ R UF iR %A YH YW=
godHE M d AI-mF ET T ?

A) WA X % 9EY 6300 7 AF gm
(B) W Y &1 ITAT 6400 I7 {H TFM
(C) o WHI X 9 Y & 9iEY SUel ug 320 91w g

(D) o %Al X 991 Y& 9T 320 A9 & 90K BN |
T
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SECTION -V
g -V
ENVIRONMENTAL STUDIES

TRt = g=

There are 30 questions in all in this section.

All questions are compulsory. 0

HEEHTH 30U T |

[ty AfEe § & .
121. Nuclear family refers to @@

(A) any family born after 1950

(B] family includes parents an ildren

(C) entire family includin il elr parents and grandparents
(D) only husband an

Thel Y& | dread

A) 99 1950% RIECITS

122, cco addiction is due to

(A)  Cocaine (B) Caffeine
(C) Nicotine (D)  Histamine.
T R Saa fRE @ T & 2

W  FE B F®H

() Frrifea (D) fewA |

L-1

[ P.T.O.
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123. What are the minimum ages for marriage of boys and girls in India ?
{A) 21 years and 18 years
(B) 18 years and 21 years
(C) 18 years and 18 years

(D) 18 years and 16 years. O

d H @5 a Tgfwal i foame 9 JTae g o € 2

A 21399 1894 & ¢
(B) 18=4 9 21494 @

) 183494 18°d Q@

(D) 18983 1699 |
124. Main occupation of people offRaj is
(B)  bakery

(D) agriculture.

(B) w={
(D)

125. of the following places of Rajasthan does not have sugar factory ?
(A) Keshoraipatan (B) Nimbahera
(C) Udaipur (D) Bhoopal Sagar.

oA Y T 4 @ f6e TR W e 99F 6 SREH TRl & 7
(&) FHIETagEA (B) fErsT

((SEEEE (D} YU AR |
TR
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126. In case of fraud or unfair business behaviour, we should lodge a complaint at
A Consumer Protection Forum
(B) District headquarters
(C) Tehsil

(D}  Gram Panchayat. O

Tt e HfT AT AFeR €1 T EH rerad &

W T e ¢
B) foen e S @
. 2
(D) ¥¥ Y= W )
127. How many members of Rajy e nominated by the President ?
A 12 (B) 18
© 20 D) 22
aoe T & € 2
(B) 18
(D) 22,

128. ict industry centre provides employment to urban and rural youths under a

scheme known as

(A}  Prime Minister's Gramin Sadak Yojana
(B) Prime Minister's Rojgar Yojana

(C) Jawahar Gram Samriddhi Yojana

(D) Swarna Jayanti Gram Swarojgar Yojana.

(LRTLERL | 101] [ PT.O.
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fen sEim %= 59 Gier % q8d Y80 T U ga@i ) AR HE 9T S § 2

@A)  wumEs! U TEF g
B) FUHHA TSR A

(C) <R I wyfg A
(D) @i SEM U S=USTR | | O
129. Which country has the maximum number of tube-wells the@ﬂ ?
‘
s&

(A) America B)

(C) China ( %/
G & Sfedn gEae fhe m E ¥ 7 Q@
(@) et 6@) TR

(C ==

{A) Chaitra Shukl

130. The Gangaur festival i @d on
§eej

(B) a’ Teej

Q) ada Krishnapaksha Ashiami
(D) aitra Shukla Navami.

O 7 BN T AR/ §

(@) o YE dN H

(B) FEY YEA T H

(C) MTETR Feorae EH H
(D) IF Y& FIH HT |

(L] 101



83 L1

131. City of Lakes in Rajasthan is

(A) Jaipur (B) Jodhpur
(C} Udaipur (D)  Ajmer.
et § Fal # TR 8
A IR B) SHR ()O
© ST (D) ¢
132. Who built the Vijay Stambha ( Tower of Victogyf) 7
(A) Maharana Kumbha ) aharana Sanga
(C) Maharana Pratap Maharaja Jaisingh.

)
fasrg ' foram @ ? )

(B)  WEWION |

(D) RN SEfEs |

(A) Major road (B) Pedestrian crossing

(C) Railway crossing (D) Narrow bridge.

I 101 | P.T..
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fr=iferd aramam o &1 1Y #
(A  H&FHgH
(C) Yo7 swIram

134. Full form of ATM is

(A)  Automated Teller Macni@%
(B) All Time Mon@

(A) STEmT TR AIA

(B) ofTe 2EH WA

(C) RS FEw T

(D) siifee o WA |
IR
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135. Message sent by computer is known as
A} SMS (B) FAX
() E-mail (D)  Telegram.
G F AAH ¥ U9 S I HeW FY FEd §

(A) THTHTH B F

(IS (D)
136. Carrier of Dengue disease is @

(A)  Aedes mosquito @ Culex mosquito
@[D]

(C) Housefly 6 Anopheles mosquito.
2 A F aEF ¥ @

90

(a) TS A= (B) TTIEE oY

. :
(&) (D) TATHES w=

137. The bi laboratory of human body is
(B) liver

(C) intestine (D) kidney.
A7 & T I SA9-T9EfeE yanmenen §
) HAERE (B) FFd

(C) = (D) g |

(LLTELTR 101 [ P.T.O.



L-1

86

138. Aim of Pulse Polic programme is

(A) treatment of Polio

(B) stop paralytic effect of Polio
(C) complete eradication of Polio
(D) all of these.

e QIferd FRiwA H1 3% §

(&) e #1 ITER

(B)

(©) difad 1 el INeR FH

(D)

T g o
139. Kashmiri Gown is known as 6

() Firan @
(C) Bugtar

HYERT = .

(a) frE

(€

140. t of Dog fish is
(A)  River
(C) Lake
& Aol &1 oTaE ¥
)
© i

(B)

{D)

(B)

(D)

(B)

(D)

(B)

(D)

101

AGHT |

Pond

TR |



[4]

87

141, Full formm of CNG is

(3) Common National Gas

(B) Compressed Natural Gas

(C)  Common Natural Gas

(D)  Certified Natural Gas. O
st #1 qu w9 # & g)

(A) HEF WA g @

(B) Fo g @

(€ = ARe | Q

(D)

@A)

(B)

€

(B)

(&)

(D)

wiewRS A9Ra 19 | C‘
142, Wildlife Week is celebrafe :

1st October

th June to 21st June.
THIE | S §

1 R ¥ 7 IHR Th
15 TR | 21 3R T
1A 9 75F &

15579 21 53 TF |

L-1

[ P.T.O.
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143. State tree, state bird and state animal of Rajasthan State are

(A) Khejari, Godawan, Chinkara

(B) Khejari, Peacock, Tiger

(C) Babool, Godawan, Lion O

(D} Mango, Peacock, Tiger. &
2
ﬂww%wqawq&ﬁﬁmwaﬁm:@
@A) G, TreE, fHwm Q@
(B) WIS, AR, & @
(©) 99gd, MeEY, I 6
(D) &M, AR, =™ |
2
144. In which st tter, the distance between the molecules is minimum ?

(B  Liquid
(D)  Plasma.
werd Fi g sraen ¥ sTopell % e F gt =AaH T 7 2

@ 3™ B %9

© = (D) |
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145. Which state is known as ‘Tiger State’ ?
A Rajasthan (B) West Bengal
(C)  Gujarat 18)] Madhya Pradesh.

HH-F T 'TER R & AW J A4 O & ?

(A) T (B) qﬁzanaﬂm()o

L 4
(@) T D)

146. Which of the following has maximum speed

Water Current

A)  Alr Q
(©)  Sound 6@ (D)  Light.
i 3 e & w@

@ Ea (B) S&U
*
(€ (D) 9HW |
147. Whic is converted into electrical energy by a solar cell ?
emical energy (B) Nuclear energy
(C) Solar energy (D) Magnetic energy.

TR 3 g T ool & fage o o sqen o1 At ¥ ?
(A) T S B A =

© wrel S (D) g F |
WNEY RN 101

L-1

[ P.T.O.
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148. Maximum amount of gas found in air is

(A) oxygen (B) carbon dioxide
{C} hydrogen (D) nitrogen.
 § watfus oo A T S A i
() e B) ®w@A Ers'wv@O
© wwEgeA O ey ¢
149. Renewable source of energy is
(A) Coal ) etroleum
(C} Plants D) Uranium.

B) aferam
D) g
150.
(B) Stratosphere

(D) Mesosphere.

(B) WITHRR H

(D) fourewRd |

(UL 101
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INSTRUCTIONS / ﬁgr
{ Read carefully and comply / o= A e wE=T Hﬁ‘)
IMPORTANT I

1. In Section [l (Language 1) a candidate has to attempt the questions of the language which the candidate has selected as
Language I in the Online Application Form.

"W |1 (W7 1) | I 0T % ! B Ee S St @ TR ar w ges anat @ w0 % w9 F e S o R

2. In Section Il (Language I} a candidate has to attempt the questions of the language which the candidate has selected as
Langua‘?e 11 in the Online Application Form. The Language I will be different t’rom Language
s 1 o1 & T 1 TR T A ¢ e A e wen anaeh 2 a1 % w9 H‘Iﬁéﬂ?ﬂﬁfﬁm%IWiWH@ﬁiﬁTﬂl

3. The candidate musi ensure that the Question Booklet No. has been filled correctly at the prescribed places in the QMR Answer Sheet.
anagt OMR VT ® T 1 T¥ JRAwT i WE A K

1 Read complete instructions carefully and fill the details from Sl. No. 1 to 6 in the OMR Answer Sheet

Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be pers
consequences arising dun’ng scanning of your Answer Sheet,

vl =t oot w9 @ W 3R W | ¥ 6 FF OMR ¥ T4 FHF | § 4 75 W qfEH (e afg =T T W ®
foraor wt ar geamr £ 7t oMR ViT ¥t S F werawy 7 ot T & 9o @y -

2. OMR Sheet No. should be writterz in the space provided in the Question Booklet.
OMR ¥te e s i | 2 T FaiRa = w ot e el

3. The Question Booklet comprises 96 pages having 150 questions. After being mslmcte (s] ope klet, only then the candidates

will open the Question Booklet seals. Check whether the Booklet contains 150 ques 0
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4. All questions are of MCQ (Multiple Choice Questions) type. There is o
marl-: There will be no negative marking for wrong answers.
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answer to each question carrying one
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6, In any event of any mistake in any question/s, candidatés tabe cnahzed However no corrections will be made in

uestion/s during the examination, )
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7. Rough work, if any, may be done in the Question Bg vain the space provided at the end of the Booklet. Do nat tear it off

from the Question Booklet. No additional paper sha i
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8. Use of Log tables, Calculator, Slide rule, Mohile p eWPager, Digital diary or any other electronic item/instrument etc. is not
alIOWed Their use will rcsult in dlsquahf 3
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9. OMR Answer Sheet will be prov1d d a
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10. The Question Booklet will be ' o ,
sfion Booklet seals shall be opened at 11:00 A M. After opening the Question Booklet, ensure
that any page/ questlon is not ssing / not printed / torn / repeated. In case, you find any defect anywhere in the Question
Booklet, immediately infogn the In®igilator and get it replaced within 10 minutes by the Invigilator. Warning Bell will ring at
12:25 P.M. and the last lo

bell willriny at 12:30 P.M.
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11. Write yo re Code, Roll No., OMR Answer Sheet No., Question Booklet No., Name and put your Signature in the
space provide e Question Booklet as well as in the OMR Answer Sheet.
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12. Wi sticn you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find

out ich answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR
et corresponding to the question. For marking answers use blue /black ballpoint pen only. Gel pens / pencils are not
allowed.
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13. OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and shown in the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the abave account
shall be of the candidate only.
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14, No candidate should leave the Examination Hall before the final bell, The Question Booklet as well as the OMR Answer Sheet

should be handed over together to the Invigilator before leaving the E.xammatlon Hall,
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